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Part-1 : General Intelligence and Reasoning

cfWserk ,0 rd"kfDr

Hkkx&x = Bkekl;

Directions (1-10) :

1.

10.

Oval : Circle :: Rectangle : ?
vMdkj % olk % wvi;r %\
(A) Triangle/f:Hkt (B) Square/0X

(C) Periphery/ifjf/ (D) Pentagon/ipHt

Cub : Bear :: Joey : ?

dc b Hiy % b b \

(A) Cave/Xil (B) Doll/xfM;k
(C) Kangaroo/dxk: (D) Truck/Vd
? : Wrist :: Belt : Waist

\ & dyib % cYV % dej

(A) Arm/Clg (B) Hand / gkFk
(C) Bend/XIB (D) Bracelet/dxu
Ramp nghway ? : House

Ji bogibo W\ % %

(A) Traffic/Vfild (B) Head/l]j
(C) Door/njoktk (D) Speed/ply
Vamp : Shoe :: Hood : ?

icln % trk % <Ddu % \

(A) Jacket/tdV (B) Car/dlj

(C) Clean/ L (D) Crook/Viji/h
? : Poem :: Fable : Story

\ b dfork ¥ dfYir dFk % dgkuh

(A) Epic/egdi0 (B) Poet/dfo

(C) Haiku/gk;d (D) Rhyme/di0;
AFKP : BGLQ :: CHMR : ?

(A) DINS (B) DFKP
(C) DNIS (D) EJOT
18:162::36: 7

(A) 984 (B) 1296
(C) 72 (D) 648
9536 : 6203 :: 5873 : ?

(A) 2540 (B) 2343
(C) 2353 (D) 2531

Amnesia : Memory :: Paralysis : ?
Lefr&yki % Lefr % ydok % \

(A) Legs/Vix

(B) Handicapped/fodyix

(C) Movement /Xfr

(D) Limbs/VX V0,0

In each of the following
questions, select the related letter/word/

figure/ number from the given alternatives.
funk (1&10) % futu 1°uk e I 1R;d 1'u e fn, fodYik
e 1 1icfi/r vikje kn@vilifre 1[;k dk pfu, A

Directions (11-18) : Find the odd word/letter/
number from the given alternatives.

fun'k (11&18)% fn; x, fodYik e I fo'ke *ICn@v{kj@
I[;k dk pfu, 4

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

(A) 41-72 (B) 12-30
(D) 11-20

A) Varanasi/Okjk.kIh

)
C) Haridwar/gfj}j
)

D) Allahabad/byigkcn

A) 222 (B) 10
C) 68 (D) 125
A) FIK (B) DGI
C (D) KND

uk "foky
B) Ornithology : Birds/1{if foKiu % I{if
f dod

D) Stream : Tree/l’u b M
A) Kennel /dUi ?
B) Stable/Lroy

)

C) Lock/ rkyk
D) Den/eéln

A) 527 (B) 639
(C) 246 (D) 356

Number of letters skipped between adjecent
letters if the series increases by one. Which
of the following series observes this rule ?

vude e fudvVe v{ d cip e NiM g, V{kjk
I[;k ,d c<rh tirh g] futufyf[ir e 1 dhu Ih
J[kyk bl fuse dk ikyu djri g \

(A) WBKQXYF (B) WYBFKQX

(C) YBQQFHN (D) WZCHJMQ
Choose the correct alternatives from the
given ones that will complete the series.

fn, X, foink e I IghfodYi dk p;u dj th fd

J[hyk dk 1jk djxid
a_c_baab_cb_

(A) abbc (B) abab
(C) aabb (D) bcca
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21. If the letters of the English alphabet are
serially numbered, one of the answer given 26. 7168
below has a meaningful word hidden in it. S 1419
Identify the answer. 312101
;invxth ollelyk d viljk dk @etulllj vd inku 83156 |2
fd;k t, ri up fn, x, mljk e 1 fdlh ,d dk
lEd tn fudyri o] t fd fufgr gh m nlij ol ) 156 (D) 148
igpkfu;A 27. |15|225](30
(A) 13, 8,9, 17, 14, 22 ‘
(B) 1, 12,7, 5,2, 18, 1 7170 |20
(€)1,7,5,12,18,1 3| ? |8
(D) 4,21, 7, 18, 13, 1 _ _ (A) 70 (B) 12
22. Following words are written in a code (C) 16 (D) 24
language..Study them carefully and findout | o8 [ am facing East. I go 20 metres, then
the word m the given code turning to the left I go 20 metres, then after
quufyf[kr ,d dV Hi'W e fy[k x, gh budk turning to the right I go 40 metres and then
MR ALICHC I Syt ity
CAR- @ad, SIT- nyk, WELL- ciyy, MAP- pap, Hrecti
Given code 1 W:ng o nap ejl eg io dh vij gA e 20 thj tirk g] filj clb
(A) LAMP (B) LAME eMdj 20 eiVj i ] filj nkb vij eMdj 40 thj
(C) LAMA (D) LAMB tkk i fiQ) e nib wij 45) elvj tirk gh viu
23. Some equations are solved on the basis of |kade LFkkU I vce _fd_l fn*l e g \
a certain system. Find the correct answer (A) North-West/mlkj&if*pe
for the unsolved equation on that basis. (B) West/1f"'pe
dN leidj.k ,d fo'th i.kyh d Vil ij gy fd: (C) South-East/nf{l.I&io
x, gh mIh i/l ij vulidjr Tendj.k di Igh mlij (D) East/i0
Kir dift, \ 29. iltlatements/ dFkut%
. "7 - 6= %13 = women are cats.
S5x8=28,3x7=12,8x6=35,13x13="? m efgyk, fchy;k g
(4) 169 (B) 130 All cats are rats.
(€) 140 (D) 144 IHh fcfvy k pf;h gb
24. Select the correct combination of y.’ Pg, "g "
mathematical signs to replace * signs and Conclusions/fu"d'l}
to balance the given equation ? ] I ﬁlthw?mfn a;re_ kra;s.
f, x, leidj.k ok Irfyr dju rfik = fpEk ok €igyt, p1g,t g
. - . . . II. All rats are women.
ifrlFfir dju d fy, xf.keh; lehjd.k dk Igh mUkj 1Mo ofa-t efavk. oh
PIg;K €igyx, g
Kir dift, \ (A) Neither Conclusion I nor II follows
13*12*5%4 urk fu'd 1 u gh fu'd m vulj.k djri g
(A) =-+ (B) =+ - (B) Only conclusion I follows
(C) +-= (D) — =+ doy fu'd't 1 vulj.k djri g
Directions (25-27): From the given options (C) Only c'(l)n"clusion 1I follows
choose the missing number/letter. D) goél ftl:d ! IH \.IUIJik dJ(;'ngf I
. . - . : ) onclusion I an ollows
flf(n kd;f25-27). fn, x, fodYik e 1 yir 1[;0v{kj ' (1) Vij @) niuk g vuljik dirk g
Kkr €, 30. If “SEQUENCE” is coded as “HVJFVMXV”
then how will “CHILDREN” be coded in the
25. 41719 same code ?
8 6|8 ;i d dV Hi% e “SEQUENCE” dk “HVJFVMXV”
31719 fy[m rk g r mlh dV Hi'k e “CHILDREN” dk¥
35492 idl idy fy[k t
(A) MVIWORSX
(A) 63 (B) 89 (B) XSRMWIVM
(C) 81 (D) 64 EC) XSROWIVM

D) DSROWIUN
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31. Po‘inting. toamanina photpgraph, awoman | 38 Statements/dFkul
said, “His broth(ir S father is the only son of The values of an educated person will differ
my grandfather.” How is the woman related from that of an uneducated person
to the man in the photograph ? . _ T .
u dgk ‘nbld Hbd firk ej ninkth d bdykr i= gh, fiu gloch
efgyk i oky i# 1 dl Icf/r g \ Assumptions/fu"d"
(A) Daughter/l (B) Mother/ elrk I. Education influences an individual’s
(C) Aunt/pkph (D) Sister/cgu V_alueS- o
32. Mrs. Lata devi was 3 times as old as her fk{k 1 fdlh 0;fDr d thou eY;k 1j iHko TMrk
son 8 years ago. Their total age is 64 years gh
now. How old (in years) is Mrs. Lata now ? II. An uneducated person will not have
Jherh yrk noh viB 0% 10 viu i= dh vk; dh frxuh ) values
cMh FitA ve mu nkuk d 9y vi; 64 0% gh Jherh ,d Vg 0:r di dlib tiou eY; ugh gird
%ﬁgk 402 vh ve fdru (()Bk) g{\ 9 (A) Neither I nor II is implicit
(C) 36 (D) 44 u rk Toluelu I vij u gh 11 fufooin g
Directions (33-35): Find the missing number (B) Only assumption I is implicit
(?) from the given options. doy ioluelu 1 fufookn g
fun' (833-35): fn, x, fodYike I yir I[;k (\) Kkr (C) Only assumption II is implicit
dhft, 4 doy ioluelu 11 fufooin g
33. 5,11, 21, 43, 85, ? (D) Both assumptions I and II is implicit
E‘é)) %3‘;’ Eg)) ig(l) ioluelu 1 rFk 11 nkuk gh fufookn g
34. 12,27, 85, 345, ? 39. Which of the following diagrams indicates
(A) 1737 (B) 1380 the best relationship between Teacher,
(C) 1725 (D) 1731 Writer and Musician ?
35. &?%i;z‘gsp’ KNQT,(;) — bue 1 dku&lk vij[k vé;kid] y[kd rfik Ixhrdij d
(C) OLIF (D) LORU cip Igh Ic/ bixr djri g \
36. Rahul travelled from a point and goes
straight to point Y’ at a distance of 90
metres. He turned right and walked 40 A) @ O (B)
metres, then again right and walked 70
metres. Finally, he turned right and walked
40 metres. How far is he fi the starti
pOiIrllze?res ow far is he from the starting © (D)
jioy ,d LFiu 1y b vij 1%/ 90 efVj dhnjird |, 0 T
. h . . g diagram, Square represents
pykA 0g nib v kj el vij 40 thJ. rd pyik mld Doctors, Circle represents Players and
cin “QJ I i eMk kj 7_0 thJ rd_PykA vre Rectangle represents Artists. Which number
0g nib v kj-el\_/lk kJ 40 elVj pyi og iljftid LRk represents those Doctors who are players
I fdrut njnij g\ ) as well as Artists ?
(A) 70 metres/€lVj (B) 10 metres/elV] fUEUfyTTir VA €] ox MOVjk o olk fkyifM sk o
(C) 20 metres/elV] (D) 30 metres/elV] vij viskr dyidije dt ifrfuf/to djr gh dk Ik vd
37. Four positions of a dice are given below. )
Identify the number at the bottom when the mu MIOVjk dit ifrfuf/fo djrk g tk f[kyiMh (& I
number on the top is 2. dyidij Hh g \
uhp d ikl fd pkj fLkar k "lib gb g Icl uhp oky
ilyd ij diu h;fnomiaj oyt I[;k2 g\ 5
‘ ‘ % ‘ (] )
1 6173
(A) 7 (B) 2
C) 4 (D) 5 (€) 3 (D) 6
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41. Which piece of paper will appear as question | 44. Identify the figure that completes the

figure when folded and cut as show below pattern of the question figure ?
in answer figures. From the given answer ml vilir ok p:u djtii'u Vvikir d ivu dk iji djpd \
figures, indicate how will it appear when . ’
opened ? (_Q.uestlgn figure:
utp i*u ViNfr;k e [k, vullj dixt di eid; 1'u VN
divu rfik [kyu d cin og fdl mlj wiNfr €l | |
fn[lb nxk \ A
Questions figure : /\: |‘
i"u VKNfr 2
D .
o >4
Z . A Answer figures:
i ' mUkj WANFr ;K

A fig :
UK,“’kafm QA Oﬂ L'A Dli‘

Ol A L OlA
45. A woman says, “If you reverse my own age,

(D) the figures represent my husband’s age. He
is, of course, senior to me and the difference
between our ages is one-eleventh of their

42. Find the number of trlangles in the given

figure ? _
fn, x, viNfr e dy fdru fiHt g \ sum.” The woman’s age1s
fdlh efgyk u dgi] ;fn wvii ejh me dk mYWk djr g
illr I[;kej ifr d me dk n"lkfr gA og vo'; g
e> | me e cMk g rFik gekjh mek dk virj me d ;x
(A) 8 (B) 10 d L Hix d cjicj g efgyt di me fdrui g \
(C) 12 (D) 14 11
43. Find out which of the answer figures (A), (A) 23 years/0'"
(B), (C) and (D) can be formed by using the (B) 34 years/0'k
pieces given in question figure ? (C) 45 years/0'k

Kir dift, fd uip f, x, wviNfr;k d Vdwk 1

VIRfr (&), (B), () vij D) e I diu I viRifr cu (D) None of these/bue 1 dib ug

46. Point out the word which can be formed

IQd r g.\ i from the letters of the given word in capital

uestions Iiigure :

iU VIR letters. _
ml “iCn dk p;u dj thfn, x, "ICn d V{ijk T cuk;k
th Idrk gh

|7 ﬂ BLANDISHMENT
|:| (A) BOARD (B) METALIC

(C) SHADE (D) CRASH

Answer figures : 47. Which of the answer figure is the right
mUkj WKNFr -k mirror image of the question figure ?

m xb mlj viNfr;k e I diu Ih vilfr iu viNfr

dk Igh ni.k 1frfctc g \
[ > H 247596R

(A) 695742 (B) eaavpre
(C) cpyeed (D) aeavpe
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48. Which of the following finished patterns can | 50. A word is represented by only one set of
be obtained from the question figure shown numbers as given in any one of the
below ? alternatives. The sets of numbers given in
fuku e 1 diu Ik ivu up f[k; x; i*u VviNfr |1 the alternatives are represented by two
iir ot 1dri g \ classes of letters as in two matrices given
g . ig . below. The columns and rows of Matrix-I
_Q'uestlg nDs igure : are numbered from O to 4 and that of Matrix-
U VANfrh II are numbered from 5 to 9. A letter from
these matrices can be represented first by
its row and next by its column. E.g., ‘A’ can
= be represented by 02, 14, 33 etc., and K’
can be represented by 57, 69, 88 etc.
Similarly, you have to identify the set for
the word ‘SAME’.
AJ‘S‘"Tleig“fes ,d 'itn ooy ,d I[:K&leg ik n*lizk x:k g] Ik
mlky ViNir; id fodYik e I fdlt ,d e fzk x;k gh folek
fn, x, 1[;t&beg v{jk d nk oxk Hjk n*i, x, g]
thi fd up fn, x, nk vi0;g e gh Vi0 ,g&Id LrHk
(D) vij ifDr dh B[ ;k 0 I 4 nh xb g vij vi0;g&itr dh
49. F1ve bells begm to ring together and ring 5 1 9hbu vi0;g0 I ,d v{ij di igy mldh ifDr
respectively at intervals of 6, 5, 7, 10 and vij cin e LrH [k } nl;k & |dl’k gh mnigj .k
12 seconds. How many times will they ring d fy, ‘A’ dk 02, 14, 33 vifn Hik ,k t 1drk
together in one hour excluding the one at g rilk K> dk 57, 69, 88 wifn Jjk n'l;k t 1drk
the start ? gh bIh rjg 1] wvkidk "iCn ‘SAME’d fy, I[;k

ip AV;k ,d IF cth, 1k djrh g rflk o @e’lh
6, 5,7, 12 rFk 10 1dM d Virjly ij ctrh gA ,d
% e o ,dliF dy fdrun ckj cext ;fn ikjHcd ,d
dk NiM sk €A
(A) 7 times/Clj
(C) 9

(B) 8 times/Clj

times /Cj (D) 11 times/clj

g dardt ot ol sioe il Redt A

=!\|Sarlta?ihlelp.nnm

jg!‘lSarka?iHelpsnm

leg dk igpluuk gA

Matrix/VI0; Q-1 Matrix/VI0; g-II

M| N~
> =l QAo
QA" »|—|®n|~
—l| QA >N
Al =l Olw
n| QA >~
©O| 0| | o] »
Nl "Rl wo
| 2| =9 W o
Do E| RN
SR Y| W E| o
ss ]l el I - i ] V)

(A) 20, 23, 86, 95
(C) 32, 14, 67, 89

(B) 13, 30, 67, 69
(D) 44, 40, 95, 57

g dardt ot ol sioe il Redt A
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Part-11 : General Awareness
Hkkx &1 = Bkekl;
51. What was the reason for Gandhiji’s support | 56.

52.

53.

54.

55.

to decentralisation of power ?
10k d fodinidj.k e xi/hth d BeFu dk
Fik \

(A) Decentralisation ensures more
participation of the people into

democracy/fodinhdj.k ykdr e yixk dh
vigkdre Hixinkjh dk Huf*pr djrk g

(B) India had decentralisation of power in
the past/Hrdly e Hijr e LUk e fodinhdj.k
FifA

(C) Decentralisation was essential for the
economic development of the country/

n't d wviffld fodil d fy, fodinidj.k dh
vio®;drk Firh

(D) Decentralisation can
communalism/fodinidj.k I TE;
th Idrk gA

Photoelectrons are emitted when

1\VkoyDViu rc miftr gir g] tc

(A) a zinc plate is irradiated with light/,d
tlr d IyV dk idk* 1 fofdjf.kr fd;k thrk gA

(B) a zinc plate is subjected to high
pressure/,d tLr d lyV ij mPp nclo yxk;k
thrk gA

(C) a zinc plate is hammered/,d tLr d lyV
dk vk tirk g

(D) a zinc plate is heated/,d tLr d IyV dk
xe fd;k trk gh

The law of constant proportion was

proposed by

fLFy wvuikr dk fu;e fdld Jjk iLrifor fd;k x;k Fik\

(A) Proust/1mLV  (B) Einstein/VibLViu

(C) Richter/fjPVj (D) Dalton/M\YVu

The number of neutrons in Al *7 is

D3k dlij.k

prevent

on dk jkdk

ALY e UVku dh B[k fdrun g\
(A) 40 (B) 27
(C) 14 (D) 13

Which religious reformer of Western India
was known as ‘Lokhitwadi’ ?

if'peh Hijr d fdl Ze 1/jd dk "yidfgroni* d
ute 1 thuk thrk g \

) Gopal Hari Deshmukh/xkiky ¢fj n*fe[k
B) R.G. Bhandarkar/Vij-th- HiMkjdij
C) Mahadev Govmd Ranade/egino xion jk.4M

(A
(
(
(D) B.G. Tilak/ci-th- fryd

57.

58.

59.

60.

61.

62.

In which part of alimentary canal fatty acids
are absorbed ?

viglj uyh d fdl Hix e ollh; vEy dk voi'fu ghrk
g\

(A) Duodenum/Xg.M

(B) Oesophagous/Xkluyh

(C) lleum / "KWk

(D) Stomach/ Vel

Electrons in the atom are held due to
ijel.k e byDViu fdld dij.k 1%fVr gir g \

(A) Vander Wall’s forces/0KMj ofYl cy

(B) gravitational forces/X zRokd'l.k cy

(C) nuclear forces/ulftkdh; cy

(D) coulomb forces/dkyEC cy

Identify the European power from whom
Shivaji obtained cannos and ammunition.
mb sjkin; "r di igpiu FERT okt u rki Vij
Xkyk ckzn wklr fd;k Fik \

(A) The French/U

(B) The Portuguese/lrx

(C) The Dutch/Mp

(D) The English/VvXt

Combustion of a candle results in

eleclih d ngu I D;k curk g \

(A) Sodium chloride/ IiM;e DykjioM

(B) Silica/flfydk

(C) Lead nitrate/yM ukoWV

(D) Platinum wire/lyfVue rij

Age of a candidate to contest Lok Sabha
election should not be lesser than

ykd THk pulo yMu d fy, mEefinokj dh wik;
fdruh giuh pifg, \

(A) 18 years/0' (B) 21 years/0'k
(C) 25 years/0'k (D) 26 years/0'
The acid contained in vinegar is
fljdk e miflFr vEy g&

(A) acetic acid/,flfvd VEy

(B) nitric acid/ulbfvd vty

(C) hydrochloric acid/gbMDykfjd VEy
(D) tartaric acid/VijVfjd VvEy

India’s first Naval Museum is being
commissioned at which major sea port

Hijr d igy uk Bfud Ixgly; dk fdl ie[k lenh
cnjxkg 1j cuok;k €k jok g \

(A) Chennai/plub

(B) Mumbai/€eEch

(C) Visakhapatnam/fo"l[lkiVue

(D) Kochi/dkph

U;ure
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63. The Sarkaria Commission was appointed to | 71. Myoglobin is found in
re_vie_vx_z the_ question of ] ) ek;kykchu dgk 1k;k thrk g \
)I(J-?gk’k\\/k’kx dk fdldh len{lk d fy, fu;Dr fd;k (A) muscle,/ el "
(/3:) Centre-state relations/dUn&jiT; Ic/ (? EIOOd/JDr ViLFleTt!
(B) Legislative problems/fo/k;h lelL;k, ED)) honet;qgl?{‘row/
. o o WTe L1 eart/an;
© :JélLl_okn territories problem /I JiT5 { 72. What is known as the open market
(D) Tribal areas/tutkrh; {k:k oi)elr;aitl)ordl Oﬁ thek.SBI k?-'k dk fdl k I tk k
64. Dialysis is used for the purification of ViV Ly cit) viiju uie u
MRyl db isix fdid LoPNidj.k d fy, fd:h trig\ o
tiri g \ (A) Bljlying and selling of stocks/"k; jk di [kjin
(A) suspensions/ ILi"u Vij fc@h
(B) true solutions/Vj HY;"u (B) Auctioning of foreign exchange /fon*i enk
(C) homogeneous mixture/ ltirh; feJd.k dh uhyten
(D) colloidal solution/dkyk;My foy;u (C) Trading in securities/ IfrHfr;k e 0;likj
65. Which is str_onigest r_educing agent ? (D) Transaction in gold/llu e yudnu
icl ?tcr vipi;d did dkl{ g\ 73. Al Beruni came to India along with
gé)) o Eg)) cl vy ckz.h fdid IF HGr vigh R\
66. The Sargasso sea is situated in the (A) Mahmud Ghazni/egen Xtul
Ijxk0k len dgk fLRr g \ (B) Mohammed-bin-Qasim/egtené&fcuédifle
(A) Atlantic Ocean/VVyiVd egklix] (C) Mohammed Ghori/egten xijh
(B) Pacific Ocean/1"lr egklxj (D) Taimur/rej
(C) Indian Ocean/fgin egklixj 74. Which of the folloiwng was called the saint
(D) Arctic Ocean/vidiVd egilixj of Dakshinewar ?
67. The largest gland in the human body is futufyf[kr e 1 fd1 nf{k.k"oj dk Ir dgk thrk Fik \
eluo “ijj e Icl C|V_|h‘ )Sﬂ:k du Ihg\ (A) Vivekananda/foodfun
E‘é)) }g)ilrllcbrlea:sc}(i% f'lk!kkk'k; :g)) E;’z;{ /;eNf[r"d (B) Chaitanya Mahaprabhu/ pI’.U; egkitk
68. Food after gettin’g c,hurned in stomach is (C) Sant Gy'aneshwar/lr Kiu OJ. ~ e
called (D) Ramakrishna Paramhansa/jleN".k ijegl
vel'k; e efi g, [k] dk D;k dgr g \ 75. P'er' (.:apita ‘income can be obtained by
(A) bolus/cly dividing National Income by
(B) chyle/fpy JeVh; vk dk fd L foHkfer djd ifr 0;fDr wi;
(D) None of these/bue 1 dib ugh (A) Total population of the country/n"k dh
69. The rapidly growing mass of phytoplankton dy tul[;k
S:O\lliering the surface water of a lake or pond (B) Total working population/dy Jethoh
is known as : ;
rth 1 mxu okyk ikni lyod t >hy ;k riykc dh tlLt o i
Irg dk iji rjg <d nr g ml Dk dgk tirk g \ (C) Area of the country/n’k dt {Fily
(A) Eutrophication /3 Vifild"lu (D) Volume of capital used/mi;kx dh xb ith
(B) Water bloom/0lVj Cye dh ek
(C) Water pollution/ty in'k.k 76. The Sultan of Delhi who is reputed to have
(D) Water hyacinth/ty deh- built the biggest network of canals in India
70. In which animals pouched gills are found ? :vash A w IYriu Bt H i di Il
il tioj e di';Dr xyilM ik, tir g \ ntyn di og diu IYriu Fi T Higr e ugjt dit Ic
Fich eny" ’ cMk thy fcNiu d fy, thuk x;k \
(B) Cls lesf e[ (A) Tltutmish/bYrrfe’
(B) Cyclostomes ﬁ: (B) Ghiyas-ud-din Tughlaq/f; I&mlhu rxyd
(C) Amphibians/mH lpj e Lru/iit (C) Firoz Shah Tughlaq/fi{jit “kg rxyd
(D) Aquatic mammals/Tyh; LI/ (D) Sikandra Lodhi/fldlnj yk/h
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77. Kalinga Pr_ize for. popularisation of science | 84. Continental Drift Theory is given by
was established in 1951 by the UNESCO at egiMin; cglo fI%r fdid Y fnsk x;k g \
fdid igy ij dfyx ijldij di UNESco ¥t (A) Wegener/0XU] (B) Karl Marx/dky elD
fokiu dk yidfi; cuu d fy, 1951 e LFfir fd;k (C) Hawkins/gifd/l (D) Malthus /efYFl
X5k Fiko\ 85. Which amendment bill proposed the grant
(A) C.V. Raman/ Ih-oh jeu statehood to Delhi ?
(B) Jagadish Chandra Bose/txni'k pln cl diu Ik 1°k/u fo/;d fYyh dk jiT; dk ntk nu dk
(C) Biju Patnaik/fct ivui;d iLrfo nrk g \
(D) S. Radhakrishnan/, I- Ji/IN".lu (A) 715t (B) 72

78. The different colours of different stars are (C) 70t (D) 73
due to the variation of : :

) . . . 86. Fruits of this plant are found underground :

;c;:HkUgu\flrkjk d vyx vyx jx fdle virj d dij.k idl i/ d ily Hfexr i, tir g \
(A) temperature/rtiefu (A) Potato/ ka_
(B) pressure/Ncto (B) Carrot/xt]
(C) density/%uRo (C) Groundnut/exiyh
(D) radiation from them/mul fudy fofdj.k (D) Onion/|;It

79. \S)Ythi;tgdoitt;l;tetgélO;Nis?kgrib'?uuding is not | 87. Earthquakes and volcanoes occur mostly

u u : :
T . in

L“;h“fg’f\[ begrice T du Tt irgij Tdjt e fLAfr HdEi Vij Tolyie[h viZdrj fdll { e gir g \
(A) The Panch Mahal/ip egy (A) plateau region/1Blj {i
(B) Moti Masjid/efrh efltn (B) folded and faulted region/Ijrnkj vij fohkx
(C) Tomb of Salim Chisti/ I'yle fpLrh dk edcjk {kek

%0 (Dgl Thde M?rianll) Pal?ce/le;j;e egy (C) deep sea plains/xgj lenh {i

. lodized salt is beneficial for
vizMu Dr ved fdld fy, yiHni;d g \ (D) None of these/bue 1 dlib ug
(A) lowering of blood pressure/jOrpki e def 88. First country to recieve world’bank lpan was
(B) prevention of dehydration/futyidj.k dh Fl’ll‘anc'e ’ W,)ho was the Bank's President at
jidFie t .at tlme'. ) _ ) .

(C) thyroid function /Fi;ji:M d idk; fo'o cd L.k ikir dju okyk igyk n*% Ukl FiA ml
(D) salivary glands/ Yij XfF k le; cd d ve;{k diu F\

81. Highvelds are the temperate grasslands of (A) Jim Yong Kim/fte ;x fde
giboYM %I d enfu ?gkhfLF:/'l’ g\ (B) Robert Zoelick/jicV tifyd
(A) New Zealand/l;tly.M C) Ban-ki-M cluddige
(B) South Africa,/nf{i.l vUid (D’ o ‘;°n// tkl‘f " "
(C) Europe and Asia/;jki Vij ,f*k;k (D) ohn Mecoy b o
(D) Australia/ViLVfy k 89. ECG s _used to detect_ the furictlonmg of

82. Originally there was only one land mass bbth ot i;ix fdld di; ivfr di irkyxiu d fy,
called fd;k tirk g \
ikjEHrk doy ,d Hk[k.M Fik] ok D;k dgyfkrk Fik \ (A) Heart/an:
(A) Panthalassa/ 1Fky Ik (B) Lung/ ililM
(B) Pangaea/ Ift;k ] & od
(C) Gondwanaland/xiMolutyM (C) Kidney /0L
(D) None of these/bue 1 dkb ugh (D) Brain/efLr'd

83. Which type of glass is used for making glass [ 90. What is the general direction of cyclones

reinforced plastic ?

fdl idij dk dip In< IyifLlvd culu d fy, i;kx
fd;k thrk g \

(A) Pyrex glass/10j01 dip

(B) Flint glass/fYyV dip

(C) Quartz glass/DolVt dip

(D) Fibre glass/ifbcj dkp

formed in the Bay of Bengal ?

cxty dh [livh e cu pQokri di Bell; " D;k girh g \
(A) East to West/10 | if*pe

(B) West to East/If'pe 1 10
(C) West to South/if'pe 1 nf{k.k
(D) North to South/mlkj 1 nf{i.k
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91. Who decides the number of judges in a High | 96. Economic survey is published by
Court ? viffd Bofk.k fdld Hjk 1dif™kr fd;k tirk g \
mPp Usksky; e Usks /i dh Ik diu r; djrig \ (A) Ministry of Finance/folk ey
(A) State Government/jiT; 1jdij (B) Planning Commission/ ;ktuk wk;kx
(B) President/]ji"Vifr (C) Government of India/Hkjr 1jdij
(C) Parliament/In (D) Indian Statistical Institute/Hkjr K[ ;dh
(D) Chief Justice of India/Hkjr d e[; U;k;lei"k =
92. Whi,Ch one of the following pairs belongs to 97. The alignment of beginning and the end of
cartilaginous fish ? . lines is referred to as
;Lﬁufg/f\[kr tiMk e I diu Ih eNyh uje gMMh oky iV vij vr d [ -\ dgt tirt
(A) Shark and Tuna/ "d Wij Vuk g\ . \
(B) Shark and Ray/" d Vj J (A) Inderltatlen/buMV k_u '
(C) Skates and Hllsa/ LdV wvij fgY Ik (B) Just1ﬁca‘r10n/ t_l_'VhfIQd b
(D) Ray and Eel/j Vij ,y (C) Super_scrlpt/ 1ij L@V
93. The President can declare emergency (D) Font/ iV
jivifr fd b idkj 1 wviikrdky db k dj 1dr 98. Forregulation of the Insurance Trade in the
g\ C(_)ur_ltry, the Goverr_nrlent has formed
(A) by his own decision/Lo; d fu.k; I Ijdij u n’k e chek 0;kikj d fy, fdldk xBu fd;k
(B) on the advice of Prlme Minister (Council g\
of Ministers)/1/luesh (edh ifjtn) dh lyig (A) SEBI/Ich
i (B) Reserve Bank of India/Hkjrh; fjto cd
(C) on the advice of Chief Minister/e[;e (C) Insurance Regulatory and Development
dh lyig ij Authority/chek fu;led ,o fodkl 1k/dj.k
(D) None of the above/bue | dib ugh (D) General Insurance Corporation/tujy
94. In Windows, Icons such as Add/Remove U™ sk I dkikj *hu
programs, Add New Hardware, Modems etc. | 99, The Indian player whose record was broken
are found in : o . recently by Ravi Chandaran Ashwin in one
foMit e vibdu tl fd ,Mifjeo ikxie] ,M U; giMo;j] day international matches ?
eiMe bRskn dgk ik, tir g \ gy gh e fdl Hijrh; f[ M d ,dfnollh; epk dk
(A) Task Bar/ViLd cij fidiM jfopnu v ou Jjk rivk x;k Fik \
(B) Control Panel/dlVky iuy (A) Kapil Dev/dfiy no
(C) Network Neighbourhood/uVod ucjgM (B) Ravi Sharma/jfo "lel
(D) My Computer/eih dI;Vj (C) Bishan Singh Bedi/fc'lu flg cn
95. Which of the following states became 28%

|1

state of India ?

futufyfkr jiT;k e 1 dku Bk Hijr dk 280k jiT; cuk\
(A) Uttarakhand /mUjk[M

(B) Chhattisgarh/NUiIx<

(C) Jharkhand/>kj[M

(D) Delhi/fnYyh

el ot ol Sieie it 2ot &
Sarkarlﬂelp.nnm

100.

i

(D) Anil Kumble/Vfuy dcy

Blood group was discovered by :

CyM xi dh [ire fdd Yk di xb Fih \

(A) William Harvey/fofy;e gio

(B) Landsteiner/yMLVhuj

(C) Pavlov/ lfoyko

(D) Alexander Fleming/VyDtiMj Yyfex

el ot ol Sieie it 2ot &
Sarkarlﬂelp.nnm
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Part-III : Quantlitative Aptitude
Hkkx &1t : ek-kfed ViHk{kerk

Directions (101-103): The pie chart given show
the data on number of foreign collaborations
approved with various countries. Some of
these foreign collaborations are technical while
others include foreign investment too. Study
the pie chart and answer the questions below
it.

fun'k (101-103): kb pkv fofHkiu n*k d Ik fd; x,
fon™fh Ig;kx d I[;kvk d vkdM dk inf*kr djrk g
dN fon*fh Ig;kx rduhdh g tcfd nlj fon®h fuo’k
dk Hh Ifeefyr djr gh kb pkv dk 1< ,0 uhp fn; X;
i"uk d mlkj nA

2013 Total/dy = 1200

2014 Total/dy = 1500

101. By how much did the number of foreign
collaboration approved with USA increase
from 2013 to 2014°?

7.1, d liFketj fd; fon®ih Ig;kx dh 1[;k 2013
dh ryuk e 2014 e fdruh c<h g\

(A) 216

(B) 99

(C) 315

(D) None of these/bue 1 dib ugh

102. What is the ratio of the number of foreign
collaborations approved with UK in 2013
to those in 2014?

;d d NFc ety di xb fon™i Bg;kx dh B[k dk
vuiir 2013 1 2014 dk fdruk g\

(A) 13:15 B) 7:17

(C) 14:15 (D) None of these

103. By what percent did foreign collaborations
approved with Germany change in 2014
with respect to 20137
2013 dh ryuk e 2014 e teuh d DR fd;k x;k
fon®lh 1g;kx dh etjh fdru ifrikr 1fjofrr gb\

(A) 2% increase/0f%

1
(B) 8 3 % increase/0fY

Kir djA
) (A) Z 5000
(C) 85% decrease/del (B) ¥ 6000
(C) % 7500
(D) None of these/bue 1 dib ugh (D) None of these/bue 1 dib ugh

104. If x=3 +2+/2 and xy = 1, then the value of
x2+3xy+y2
x2—3xy+y2
ifnox =3+ 242 rRk xy =1 gk] r¥k

X%+ 3xy + y2
=2 dk elu gixi&
x% - 3xy + y2 J

30 70
® B
35 37
© 3 D) =+

105. A sailor takes a boat from place A to place
B, and returns to A. Place A and B are 21
km apart, and he takes 10 hours to go and
return. The time taken by the boat to row 7
km downstream is equal to the time taken
by the boat to row 3 km upstream. Then
what is the speed of the current?

,d ulo pkyd] uto dk LFu A I LFku B rd pyiri
g rRk okl LRku A ij yivrk gh A rFik B d cip dh
njh 21 fdel- g] rfk og thu&viu dh dy ;kik 10
%.Ver; djrigh;fn Zljk d vuiolg e 7 fdef njh
r; dju e yxi le;] méoiolg e 3 fdeh- njh r; dju
e yx le; d cjicj gh rk Zkjk dh pky D;k g\
(A) 5 km/hr/fde-i%.Vk
(B) 2 km/hr/fdef-§%.Vk
(C) 7.5 km/hr/fdem-f%. Vk
(D) none of these/bue 1 dib ugh

106. ¥ 425 is divided among 4 men, S women
and 6 boys such that the share of a man, a

woman and a boy may be in the ratio of
9 : 8 : 4. What is share of a woman?

¥425,4 1:'l] 5 efgyk rAk 6 cPpk e bl 1dij clv
thr g fd ,d 1] ,d efgyk rFk ,d cPp dk fgL Ik
9:8:4d vuikre gk Idrk gh ,d efgyk dk fgL 1k

D;kg\
(A) %24 (B) 28
(C) T 32 (D) % 34

107. A trader sells two articles, one at a loss of
10% and another at a profit of 15% but finally
there is no loss or gain. If the total sale price
of these two articles is ¥ 30,000. Find the
difference between their cost prices :

,d 0;kikjh nk oLrvk dk cprk g] 1gyh oLr dk 10%
gifu rRk nljh oLr dk 15% ik 1j cprk g] fdir
wvir e u gifu wvij u yisk ghrk gA ;fn nkuk oLrvk dik
dy fod; eY; ¥ 30,000 gA mud @; eY;k dk vrj

1ol
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108. Two pipes can fill a cistern in 14 and 16 | 111. A shopkeeper sells his article at 20% profit
hours respectively. The pipes are opened if the had bought it for ¥ 100 less and sold
together and it is found that due to leakage it for ¥ 100 less then it’s profit increase by
in the bottom of the cistern, it takes 32 4% then find the C.P. of the article ?
minutes extra for the cistern, to be filled ,d ndiunkj viuh oLr dk 20% yk Hk 'J cprk g ;fn
up. When the cistern is full, what time will mlu bl oLr dk % 100 de e [kjhnk gkrk rfik ¥ 100
the leak take to empty it? de e cpk giri] ri mbdk yiH 4% vf/d gkri] riml
nk ikb1 ,d gkt dk @e'h 14 rfik 16 AV e Hj Idr oLr dk @; eY; Kir djA
gh nkuk ikbi ,d NiFk [y fn; tir g rRk ;g Kir (A) ¥ 600 (B) ¥ 900
; ; (C) % 800 (D) % 1000
giri] g fC_l gt d vizj e ,d fn g ftld dy.| 112. When a train starts it is carrying 240
git fj_k HkJ_u e 32 feuv di vi/d le; yxri gh tc passengers. At the first station 12
gkt ijk Hj gk ghrk g] rk Kkr dift, fNn fdru le; passengers got down and 22 passengers got
e gt dk [lyh d X\ into the train. At the second station 20% of
(A) 114 hr/%.V (B) 112 hr/%.V the passengers got down‘ and at thg third
station 32 passenger got into the train and
(C) 100 hr/%.V (D) 80 hr/%.V some passenger get down and now finally
109. A man can reach a certain place in 30 hours. thre are 80% passengers in the train. Find
1 the number of passenger who got down at
If he reduces his speed by 1 th, he goes the third station.
. ‘ _ ' tc ,d jyxiMh jokuk girh g rk mle 240 ;K gh
I110 km less in that time. Find his speed per ifle LV ij mle 1 12 ;kh mrj tir g ,0 22
our : c e e
) . . . S p< thr gh nlj LV'u 1 xiMh e cB 20% ;I
,d 0;fDr fdIh fuf*pr njh dk 30 %.V e r; djrk mrj tir g rek by LV i 32 50 jyxibh e p<r
. . 1 g rfk dN ;e mrj thr g rflk 80% ;K vc Hh
gk ;fn og viun lieW; ply e Hix dh den VXJ jyxibh e g i rilj LV'lu i mrju oty ik
djrt ri] og mru gh le; e 10 fdeh- de pyrik dh 1[;k fu/ifjr dj
0;fr di plyi.Vk Kir de (A) 44 (B) 40
" (C) 30 (D) 26
(A) 6 km/hr/ fde Wil 113. In a election between two candidates, the
1 winning candidate got 80% of the total valid
(B) 55 km /hr/fdeh-§%. Vk votes. If out of a total of 1,80,000 votes, 10%
were declared invalid. Find the total
(C) 4 km/hr/fdeni%.Vk number of valid votes got by the second
(D) 5 km/hr/fde-i%.Vk candidate. ‘ )
110. Two candles of same height are lit together nk meetnokjk d e¢; g oty fdlh pulo e igy
at the same time. Ist candles takes 10 hrs meetnokj dk dy o/ erk dk 80% er feyA ;in dy
while second takes 9 hours to burn 1,80,000 erk d 10% er vo/ '7kkf"k fd, x, df
completely. Suppose they are burning at rk nlj meetnokj d i{k e o/ erk dh 1[;k Kir djA
same rate. Find out the time after which (A) 32,400
height of the 1st will be double of the second (B) 32,600
candle. (C) 32,455
lelu Aplb di ni elecfli;k ,d gi le; ij tyk;h (D) None of these/bue I dib ugp
. i \ o ih g M 114. A man sells a bicycle at a gain of 10%. If he
).(’h UgA gyt elecit 10 2.V e rfit nljt ° nv e had bought it at 10% less and sold it for ¥
i.krh ty tirh gA elu yift, fd nkuk elecUh fLRj 132 less, he would have still gained 10%.
xfr 1 tyrh gh Kir dift, fd iTofyr gu d fdru Find cost price of the bicycle.
%V cin igyh eleclih dh yEckb nlji eleclin dh ,d vinel ,d Hbfdy 10% yiH ij cprk oh fn
yEcih dh nxuh gixi\ mlu Libfdy 10% de eY; 1j [khnh gkrh rFi
8 5 132 de e cph girh] rk ml 10% ykk ilr gkrkA
(A) ZH hr/%Vk  (B) SH hr/%.Vk Iibfdy di @; eY; Kir dift,%
(A) % 1000 (B) * 1200
1 (C) * 1500 (D) * 1320
(©) 107 hr/%W (D) 12 hr/%.W
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115. A, B and C start a business with a sum of 1
¥ 50,000. A invests ¥ 4,000 more than B | 119. A takes 4 days to complete El‘d of a work,
and B invests ¥ 5,000 more than C. What
will be A's share if total profit is ¥ 35,0007 B takes 3 d ; let lth fth
A, B rfk ¢ 2 50,000 di Zujif*k 1 ,d 0;filj akes o days tocompiete g - ol the same
VijEH djr gh A, B 1 2 4000 vi/d rFik B, C 1 1
2 5000 vi/d fuo'k djrk gt :fn dy yitk 2 work and C takes 5 days to complete 5 of
35,000 gi] rk A dk Hikx D;k gixi\ the work. If all of them work together for 3
(A) % 36,000 tc]ay; and A arlld C %uit, hovy lpng willkitd tak§
(B) ¥ 35,000 or B to complete the remaining work done:
1 1
(C) ¥35,490 Afdlhdi; d = Hix di 4 fiu €] B = Hix d
(D) None of these/bue 1 dkb ugh 3 6
116. The simple interest on ¥ 1650 is ¥ 30 less 1 S s
than the interest on ¥ 1800 at 4% p.a simple 3 fnuk e rik C 2 Hix dic 5 fuk e ijk dj Idr
interest for a certain period. Find the time. gt ;fn o ,d Wi feydj 3 fou die djr g mld
T 1650 dh Zujif*k 1j WAk Cike = 1800 dh cn A vij ¢ die NM nr g rk "K% dk; B fdru
Uik ij 4% ofid nj ij M.k it (,d le; e iji djxi\
fuf*pr le; d fy,) 1330 de gh Ie Kkr djA (A) 6 days/fnu (B) 8.1 days/fnu
(A) 3 years/0'k (B) 4 years/0' (C) 5.1 days/fnu (D) 7 days/fnu
" " 120. A spherical ball of lead 6 cm in radius is
(C) 5 years/0' (D) 6 years/0' melted and recast into three spherical balls.
117. The cost price of an article A is ¥ 160 and The radii of two of these balls are 3 cm and
selling price of another article B is ¥ 240. If 4 cm. What is the radius of the third sphere?
the selling price of A will be equal to the 6 lel- f=T;k okyh ,d Bkl xn dk fi%dkydj rhu xn
cost price of B, then the profit after selling cukzh x:h fele nk xn dh f=4T:k @e'lh 3 Ieb rfk 4
A is 20%. What is the profit percentage on leb g ri riljh xn dh f473k Dsk g\
B? 7’ bl
. A) 6 leh B) 6.5 leh
,d oLr A dk yixr eY; ¥ 160 g rRk nljh oLr B (A) 6 cm/ B) cm/
o ) S (C) 5.5 cm/leh (D) 5 cm/ el
di fod; e; ?_2_40 gk ;fn A difod; eY; B d 121. A cricketer makes 150 runs in first test
yixr eY; d cjkcj giri] rk A dk cpu d cin 20% match. In second test match his run
dk yitk girk gh B ij yiHk ifrtir D3k g\ increased to 5 : 6 from first match and in
(A) 16.66% third test match his run decreased to 4 : 3
o ? from second match. Find the his average
(B) 50% run in all the matches.
(C) 25% ,d f@dVj u igy VLV ep e 150 ju cuk;iA nlj
(D) None of these/bue 1 dib ugh VlVepemldijuigyepdjul 5:6d vuilkr
118. Two rifles are fired from the same place at a e c< Xk rfk rilj VLV ep e midk junljep d
difference of 11 minutes 45 seconds. But a jul 4:3d vuilr e %V x;i4 THh epk e midk
man who is coming towards the place in a Vi ju D3k g\
train hears the second sound after 11 (A) 155 ’ (B) 150
minutes. Find the speed of train (assuming (C) 160 (D) 155.5
speed of sound = 330 m/s) : 122. A man with a sum of T 2602 wants to deposit

11 feuwv 45 Id.M d le; virjty 1j ,d gh LFu
I 2 cindk 1 cyV ik;j dh trh gA foijhr fn"ik I
virh gb jyxiMh e ,d ki igyh cyV dh eofu d
11 feuv cin nlj cyV dh eofu dk Rurk gh eluk fd
eofu dh xfr 330 e-fld.M gh jyxiMh dh xfr Kir
dift, A

,d O;fDr d il = 2602 dh Zujkt*k ] fel og
(&) 72 km/h/fdeti%. Vi viu nk i d cd [iirk e tek djuk pigrk g] fd
(B) 36 km/h/fdeff%.Vk el 5 rFik 7 0% d cin i dl cilcj Zujit*l ikr
(C) 81 km/h/fdef-i%.Vk o] C;kt 4% off'id pdof¥ C;kt di nj 1 1;kftr
(D) 108 km/h/fdemi%.Vk gkrk g cM 1=k d [lkr e tek dh x;h Zujkf*k Kir dj\

(A) ¥ 1352 (B) ¥ 1200

(C) %1500 (D) % 1301

this sum into the bank in the account of
his two sons so that both will get equal
money after 5 years and 7 years,
respectively at the rate of 4% p.a.
compounded annually. Find the part of
amount deposited into the account of first
son.
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123. A tiger is 50 leaps of its own leap behind a | 127. Vivek has a chemical of ¥ 25 per litre. In
deer. The tiger takes 5 leaps per minute to what ratio should water be mixed in the
the deer's 4. If the tiger and the deer cover mixture so that after selling at ¥ 20 litres
8 m and 5 m per leap respectively. What he may get a profit of 25%?
distance will the tiger have to run before it food d ikl T 25 ifr yiVj oyt ,d jlk;u gh
catches the deer? . " jl;u e ilun fdl vuilr e feyk;k tiuk pifg, rifd
,d pirt,d fgju I 50 Nyix 1IN gh o niuk Zeth fed.k ok z 20 yiVj dh nj 1 cpu ij 25% di yitk
5 NyixifeuV vij 4 Nyixifeuv d nj I Hixr gh ;fn gl
if;d Nyix e pirk vij foju @e’lii 8 efVj rik 5 (A) 14:9 (B) 16:9
eivj dh njh r; djr gh fgju dk 1dMu d fy, pir (C) 9: 14 (D) 9:16
dk fdruh njh r; djun iMxi\ 128. 100 oranges are bought for ¥ 350 and sold
(A) 600 m/elNj (B) 700 m/elVj at the rate of% 45 per dozen. The percentage
C) 800 m/elVj (D) 1000 m/eiVj of profit or loss is: = .
124. Ek)man brll,lq/fs e{ truc(k )for 3 2,12(4,0010. The 100 Irjk.dk ¥350 e [ljink x:k rhd ng. 3 48 1fr
annual repair cost comes to 2% of the price ntu dh nj I cpk x;iA yitk vFok gifu ifr'ir g&
of purchase. Besides, he has to pay an (A) 15% loss/gifu (B) 15% profit/ykHk
annual tax of ¥ 2000. At what monthly rent 9 2
must he rent out the truck to get a return (C) 14 % loss/Qffu (D) 14 % profit/ yiH
of 15% on his net investment of the first
year? 129. V;Izek can dod a p1ecC61: of Work md 10 daﬁfs
; Shreyain 12 days and Stuti in 15 days. They
(,j(hj kaﬂehh ?bz ’gﬁ’oogke (’Jd Vk?,kgkjhn.r gl ':Ekk de all start the work together, but Vivek leaves
. Cinn x er 2% 0 ejeer ij [ip after 2 days and Shreya leaves 3 days before
dj tek djuk iMrk gA og 0;f0r vd dk ifrelg fdru is the work completed?
fdjk; 1j n] ridd ml igy o'k dy fuo’k Zujkf*k di food fdlt di; dk 10 fuk €] J;k 12 fnuk €] rRk
15% Hix ikir gk 1d\ Lrfr 15 fnuk e ijk dj 1dr gh o di; dk ,d iR
(A) % 3350 (B) % 2500 k= djr g fdir 2 fnuk cin food dk; dk NiM nr¥
(C) ¥ 4000 (D) ¥ 3212.50 g vij J;k di; [IRe giu 1 3 fnu igy] dk; NiM nrf
125. A book consists of 30 pages, 25 lines on ] ri Kir dift, di; fdru fidk e ijk gxi\
each page and 35 characters on each line. g ¢ ’ f
If this content is written in another note (A) 5 days/IU (B) 6 days/Inu
book consisting of 30 lines and 28 (C) 7 days/fnu (D) 8 days/fnu
characters per line, then the required no. | 130. Neha can do a work in 20 days, while
of pages will be how much percent greater Vartika can do the same work in 25 days,
than the previous pages? with the help of monika they completed the
,d fdric 30 iluk I feydj cuk g ftle iR;d iluk whole work in 10 days. All of them were
ij 25 ifDr;k g rfk iR;dl ifDr e 35 vij g ;fn paid tofal ¥ 700. What is the share of
b1 fo'l; 1ph dlt nlj uiVed e] T 30 ifDri rfi ugr fdIh di; dk 20 fu e dj Idri g tcid
iR;d 1fDr 28 v{ij 1 cuk gf] rk vif{ir aluk dh . .
L iav . x- il 1 fdrdt ifrte vizd o\ ofrdk mih dk; dk 25 fnu e dj Idrh g] rRi
Lk igy fn, x; wlu ¥ fdruk ¥irkr vi/d g elfudk dh Igi;ri 1 o bl di; dk 10 fiu e ijk dj
(A) 4.16%
(B) 5% yrh g rfk bl di; d fy, mig ¥ 700 ikr gir gh
(C) 6.66% elfudk dk Hix Kkr dhft,\
(D) None of these/bue 1 dkb ugh (A) ¥ 130
126. The three medians AD, BE and CF of A ABC (B) X185
intersect at G. If the area of AABC is 60sq. (€) X 70
cm then find the area of the quadrilateral (D) can't be determined/Kir ugh fd;k th Idri
BDGF. 131. If P and Q are the mid-points of the sides
AABC dh riu elfé;dk, AD, BE rfk CF, fcln G CA and CB respectively of a triangle ABC,
ij ifreNn djrt gh ;fn aABC di {iily 60 ox right-angled at C, then the value of 4(AQ? +
let g ri prit BDGF di {Hily Kir dift, D ) 1s equal to:
grp S y ’ fHHt ABC €] 2C ledk.k g ;fn P rik @ @e'l
(A) 10 sq. cm/0X Ieh- CA rfik CB d ed; fon g] rk 4(AQ2 + BP?) di
(B) 15 sq. cm/0X 1€l elu Kir dift,
(C) 20 sq. cm/0x leb- (A) 4BC? (B) 2AC?
(D) 30 sq. cm/0X leb- (C) 2BC? (D) 5AB?

131



= S m i

g dardl &l @ sierorl fgodt &

. v |
Daily G ; *H
ovt. Railway  |as. Gk - Is
Currt_?nt Jobs 55C Bank PCS eBooks ~Ha ﬂrkarlﬂelp.ﬁﬂm
Affairs
132. If 10 sin*A + 15 cos*A = 6, then 27 cosec®A | 138. If sinf + cosecH = 4, then what will be the

133.

134.

135.

136.

137.

+ 8 secbA =7

;i 10 sin*A + 15 cos*A = 6 g] Ik 27 cosec®A
+ 8 secbA =7?

(A) 240 (B) 250

(C) 245 (D) 235

A square is formed in such a way that the
length of its diagonal is /2 times the diagonal

of the square having area 200 sq. m. Then
the area of the square so formed is :

,d ox bl idij cuk g fd bld fod.k dh yEcib] ,d
200 ox elVj {i=iQy okyk ox d fod.k dh yEcko dk

J2 xuk gA rnulllj cu ox dk {ily Kir dift,&
(A) 200./2 sq. m/0OX ef-
(B) 400./2 sq. m/OX ef-
(C) 400 sq. m/0X el
(D) 800 sq. m/0X €l
2t -1
If x=2tand y = 3 then what is the

value of t for which x = y is true?

=20V y= 2o i ed fdl eud y,

x=y Igh g\
1 1
(A o (B) =5
1 1
©) 3 D) =7

Find the all numbers between 2500 to 3000
which are exactly divisible by 21, 24 and

28.

2500 1 3000 d cip o M I[;k, Kir dift, t
21, 24 rAk 28 1 1.frk foHiftr gk A

(A) 2522, 2689, 2757

(B) 2623, 2790, 2858

(C) 2520, 2688, 2856

(D) 2724, 2890, 2958

Base of right prism is an equilateral triangle
of side 6 cm. If the volume of the prism is
108./3 cm?, its height is :

6 leh Htk oty fd I leckg fiHktdly wviZlj 1j Cu

ledilh; fiTe di Apib Kir dj feldi vi;r
108./3 leh g&

(A) 9 cm/ leh (B) 10 cm/ leh
(C) 11 cm/leh (D) 12 cm/ leb-
If tan6 = g, then what is the value of

psecd —qgcosecd
2
psecd+qgcosectd

) D psecld —qcosecd
;i tano = q gl rk psecl + qgcosecd elu
D;k g\
2 2

pP—-q B
A) (S

pb+q qa +p

2 2

b —-q
©) S5—5 (B) 1

q2+p2

139.

140.

141.

142.

143.

value of sinf — cosecf ?
;N sin® + cosecd = 4 gf] rk sind — cosecod dk

elu D;k ghxk \
(A) 2 (B) 23
(C) 16 (D) 14
If ax® + bx + ¢ = a(lx - p)?, then the relation
among a, b, c would be:
i a+bx+c=ax-p?2 g rka b cdchp
IEcl/ gixi&
(A) abc=1 (B) b= ac
(C) b%=4ac (D) 2b=a+c
Find the value of 3+i+ ! + L
J3 J3+3 3-3°
1
\/_«/_+3 J_s el Kir djk
s
A) 2(\/§+3) (B) 23
(C) 6 (D) 3

Two circles of radius 4 cm and 6 cm touch
each other internally. Find the longest
chord of the bigger circle which is outside
of the smaller circle?

Ieh rfk 6 eb- =KT;kvk oky nk olk ,dé&nlj di
vrh Li'k djr gh cM olk dh Icl yEch thok Kir
dhft t NIV olk d cigj g\

) 82 cm/leh

(A)

(B) 4.2 cm/leh
(C) 62 cm/leh
(D)

3.2 cm/leh
sin 720° — cot 270° — sin 150° cos 120° is
equal to:-

sin 720° - cot 270° — sin 150° cos 120° d
cjicj gh&
1 1
) V2 ) Js
© % @) ¥
If 1 < x< 2, then the value of
Joe—12 + -3 is

M l<x<29]r Jox-12 + Jx-32 d

elu g&
A) 1
(C

(D) 2x- 4
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144. The angle of elevation of the top of a tower
from a point A on the ground is 30°. On
moving a distance of 20 metres towards the
foot of the tower to a point B, the angle of
elevation increases to 60°. The height of the
tower is:

Hfexr ry d ,d fcn A 1 ,d ehuj d "'k d
miu;u dk.k 30° gh ml fcin 1 ehukj dh fn*lk e 20
ef- dh njh ij flFr ,d vU; fen B 1 mluju di.k

c<dj 60° gt thrk gh rnullj ml ehuj di Aplb
fdruh g\

(A) 3 m/ek (B) 5.3 m/el

(C) 103 m/ef- (D) 20./3 m/eh

145. If (Ba+ 1)+ (b—-1)2+ (2c- 3)? = 0, then the
value of (3a + b + 2¢) is equal to:
i Ba+ 12+ (b-12+ (2c-3)>=0 g rk
(3a+ b+ 20 di elu d cjicj g&
(A) 3 (B) -1
(C) 2 (D) 5

146. What will be the difference between the

compound interest and the simple interest
at the rate of 5 p.c.p.a. on an amount of
¥ 4000 at the end of two years?

2 4000 dh Zujif*k 1j 5% off'kd nj I nk o' dh
vof/ e IW/lj.k Gkt vij p@of¥ C;kt e Dk virj
ghxi\

(A) T 10

(B) % 20

(C) 725

(D) Data inadequate/VkdM Vi ;llr

T! § Jarst bt ufl oo Redt i
3 l\lSarkarIHelp.nnm

Directions (147-150): Study the graph given
below and answer the following question.
fun'k (147-150): uhp fn, x, xkil dk vé;;u dj ,0
fn; x, i"uk dk mlkj nA

Demand and Production of color TVs of five
companies for March, 2015

elp] 2015 e ikp dEifusk d jxiu Vi-oh- db
elx ,0 mRiknu
|
Demand Production °
3 o
3 S 2 mo
o « S MR
s s L 8 B
1o} S o
- 8 =
I
A IB C D E
147. What is the ratio of the number of
companies having more demand than
production to that of the companies having
more production than demand?
dEifu;k ftudh elx miknu 1 vi/Zd g] dh I[;k
mu dEifusk db B[k feudk miknu ekx 1 T;knk g]
di vuikr Dk g\
(A) 3:2 B) 2:3
(C) 4:1 (D) 1:4
148. What is difference between average demand
and average production of TVs of all
companies combined together?
IHh dEifu;k db B;kfer Vioh- dk vilr elx ,o
vklr miiknu d eé; fdruk vrj g\
(A) 380 (B) 280
(C) 480 (D) None of these
149. The production of TVs by companies D is
how many times the production by
company A:
dtiuh D dk Vi-of- miknu dEiun A d Vh-of- mRiknu
dk fdruk xuk g\
(A) 3.0 (B) 0.55
(C) 1.80 (D) None of these
150. The demand of colour TVs manufactured

by company B is what percent of the
demand of those manufactured by company
C:

deiun B gk fuelf.kr jxhu Vh-of- dh elx dEiut C
gk fuelf.kr Vh-of- dh ekx dk fdruk ifr*ir g\

(A) 24% (B) 30%

(C) 40% (D) None of these

| darst 6 3 Sieror Bodt
ok edooks IS QN |Sarltar|Help£nm
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Part - IV (English Language)

Direction : In Question nos. 151 to 155, some
part of the sentences have errors and some
are correct. Find out which part of a sentence
has an error and blacken the oval [@]
corresponding to the appropriate letter (A), (B),
(C). If a sentence is free from error, blacken
the oval corresponding to (D) in the Answer
Sheet.

151. Let us congratulate him for his success in
the examination.

(A) Let us congratulate him

(B) for his success

(C) in the examination

(D) No error

The speaker was not only slow but also
inaudible as well.

(A) The speaker was

(B) not only slow

(C) but also inaudible as well.

(D) No error

Many a star are twinkling in the sky.

(A) Many a star

(B) are

(C) twinkling in the sky.

(D) No error

I am learning English for ten years without
much effect.

(A) T am learning English

(B) for ten years

(C) without much effect.

(D) No error

I am participating in the two-miles race
tomorrow morning.

(A) I am participating

(B) in the two-miles race

(C) tomorrow morning.

(D) No error

Directions : In Question nos. 156 to 160,
sentences given with blanks to be filled in with
an appropriate word(s). Four alternatives are
suggested for each question. Choose the
correct alternative out of the four and indicate
it by blackening the appropriate oval [®@] in
the Answer Sheet.

152.

153.

154.

155.

156. He didn’t have the guts to stand ........ his
friend when he was in trouble.
(A) with (B) for
(C) by (D) beside

157. When electricity failed, emergency
generators .........
(A) cut out (B) cope with
(C) cut on (D) cut in

158. We must eliminate the ........ rich and poor.

(A) disparity between
(B) disparity for

(C) disparity in

(D) deviated from

159. The prisoner showed no ....... for his crimes.
(A) hatred (B) obstinacy
(C) remorse (D) anger
160. The Romans were ....... science.
(A) bad in (B) bad to
(C) bad for (D) bad at

Direction: In Question nos. 161 to 167, a
sentence/a part of the sentence is underlined.
Below are given alternatives to the underlined
part at (A), (B), (C) which may improve the
sentence. Choose the correct alternative. In
case no improvement is needed your answer
is (D). Mark your answer in the Answer Sheet.
161. During his long discourse, he did not touch

that point.

(A) touch over (B) touch on

(C) touch of (D) No Improvement
162. You have come here with a view to insult

me.

(A) to insulting me

(B) of insulting me

(C) for insulting me

(D) No Improvement
163. My opinion for the film is that it will bag

the national award.

(A) opinion to (B) opinion about

(C) opinion on (D) No Improvement
164. He has aptitude of such a work

(A) for (B) at

(C) in (D) No Improvement
165. My friend was in hospital for a week after

an accident.

(A) through (B) following

(C) for (D) No Improvement
166. Practically, every part of the banana tree is

used by man.

(A) each part (B) any part

(C) most part (D) No Improvement
167. The demonstration passed off peacefully.

(A) passed out (B) passed away

(C) passed on (D) No Improvement
Direction : In Question nos. 168 to 175, four
alternative are given for the Idiom/Phrase
underlined in the sentence. Choose the
alternative which best expresses the meaning
of the Idiom/Phrase and mark it in the Answer
Sheet.
168. I met him after a long time, but he gave me

the cold shoulder.

(A) insulted me

(C) ignored me

(B) scolded me
(D) abused me

Lol
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169. This matter has been hanging fire for the | 179. A woman of very fair complexion with hair
last many months and must therefore be and light blue eyes
decided one way or the other. (A) Beauty
(A) going on slowly (B) hotly debated (B) Pretty
(C) stuck up (D) ignored (C) Braggart
170. Mr. Govardhan is out and out a reactionary. (D) Blonde
(A) thoroughly 180. The science or philosophy of beauty
(B) no more (A) Sophism
(C) in favour of (B) Philology
(D) deadly against (C) Aesthetics
171. The case was held over due to the great (D) Ascetic
opposition to it. 181. A victory gained at too great an expense
(A) postponed (B) dropped (A) Pyrrhic (B) Decisive
(C) stopped (D) cancelled (C) Bloody (D) Celibacy
172. Companies producing good play to the | 182. The science of art of conducting
gallery to boost their sales. negotiations between nations
(A) depend upon the public for approval (A) Wandering (B) Diplomacy
(B) advertise (C) Epicure (D) Erratic
(C) attempt to appeal to popular taste Direction : In Question nos. 183 to 185, out
(D) cater to the public taste of the four alternatives, choose the one which
173. Since he knew what would happen, he | best expresses the meaning of the given word
should be left to stew in his own juice. as your answer.
(A) Suffer in his juice 183. UTTER
(B) Boil (A) Express (B) Defer
(C) Make a stew (C) Borrow (D) Laugh
(D) Suffer for his own act 184. RAIL
174. In the organised society of today no (A) Scold (B) Push
individual or nation can plough a lonely (C) Try (D) Punish
furrow. 185. SMITE
(A) remain unaffected (A) Flee (B) Speck
(B) do without the help of others (C) Dirt (D) Strike
(C) remain non-aligned Direction : In Question nos. 186 to 188,
(D) survive in isolation choose the word opposite in meaning to the
175. Sobhraj could be easily arrested because | given word opposite in meaning to the given

the police were tipped off in a advance.

(A) Given advance information

(B) Toppled over

(C) Bribed

(D) Threatened
Directions : In Question nos. 176 to 182, out
of the four alternatives, choose the one which
can be substituted for the given sentence.
176. That which is endless

(A) Interminable

(B) Refutable

(C) Irrefutable

(D) Underscore
177. One who relies on experiment not on theory

(A) Practical (B) Scientist

(C) Empiric (D) Theoretical
178. A vain boasting fellow

(A) Fool (B) Chivalrous

(C) Braggart (D) Gallant

word.

186. SULLEN

(A) Dirty (B) Cheerful

(C) Clean (D) Risen
187. GUMPTION

(A) Cleverness (B) Wit

(C) Savvy (D) indolence
188. ENIGMATIC

(A) Healthy (B) Watchful

(C) Disastrous (D) Obvious

Directions : In question nos. 189 to 190, four
words are given in each question, out of which
only one word is spelt correctly. Find the word
spelt correctly and mark your answer in the
Answer Sheet.

189. (A) Pasrimony (B) Parsimony
(C) Pasrimoney (D) Parsimoney
190. (A) Welter (B) Welther
(C) Weltere (D) Welthar

§ 3 b1 udl Siorori Bodl &
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Direction : In Question nos. 191 to 195, in the
following passages some of the words have been
left out. Read the passages carefully and choose
the correct answer to each question out of the
four alternative and fill in the blanks.
CLOZE TEST
It ...(Q)... that policing in the future will be

...(1i)... more different that it is today. Advances
in technology ...(iii)... in computers, television and
communication — will assist the police in solving
and preventing crimes. Advances in forensic
science ...(iv)... evidence more reliable and
meaningful. All of these changes will be for the
better if they help ...(v)... the quality of police
service.
191. (i)

(A) predicted

(B) has predicted

(C) is predicted

D) was predicting

192. (ii)

—

193.

)
B) placidly
)

194.
) had to make
) would be made
) has made
) should make
195.
A) improving
B) be improved
C) to improve
D) have improved

T!! § Jarfl bt ufl s Redt A
:si|iSarkarifieip.com

Direction : In Question nos. 196 to 200, you
have a brief passages with 5 questions. Read
the passage carefully and choose the best
answer to each question out of the four
alternatives and mark it by blackening the
appropriate oval [®] in the Answer Sheet.
PASSAGE
At what age should school begin ? The
answer must depend upon the home, its
topography rather than upon its oral or
psychological character. A child who lives on a
farm in the countryside can happily and
profitably spend his time wandering about,
watching animals, reaping, thrashing etc. until
the time comes when it is necessary to begin
formal instruction. But for the urban child whose
parents live in a cramped apartment, it is quite
otherwise. For him, school is desirable as an
escape into freedom-freedom of movement,
freedom of noise and freedom of companionship.
196. Topography means the science of
(A) drawing maps
(B) description of features of a place
(C) shooting photographs
(D) description of topics
Formal instruction here implies
(A) school discipline
(B) rigid code
(C) regular education at school
(D) disciplined conduct at school
The author believes that
(A) a child in a countryside need not have
formal instruction
(B) an urban child likes freedom of all kinds
(C) a countryside child is benefitted by free
environment
(D) an urban child must begin formal
instruction late
The author thinks that the problem as to
when the children should go to school
depends rather on the
(A) psychological character of home
(B) moral character of home
(C) topographical character of home
(D) spiritual character of home
Which word may be the synonyms of
“Companionship”.
(A) hostility
(C) Antagonism

197.

198.

199.

200.

(B) Rapport
(D) Strangeness

T!! § Jarfl bt ufl s Redt A
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